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INSTRUCTIONS TO CANDIDATES

This question paper has 50 questions. Each question carries one mark. There are four choices for answer
(A, B, C, D) to each question. Choose the correct answer (one only) for each question and write the
answer in the space provided against each question.

Candidate must write Name, Roll No. and sign on each page of this booklet.

The candidate should check that the booklet does not have any unprinted or torn or missing pages or
questions etc. If so, get it replaced with another question paper, before question paper starts.

One (1) mark will be awarded for each correct answer. There will be negative marking and (- %) mark

will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking

Return the Question Paper cum Answer Sheet to the invigilator after the examination is over.
Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.
There should not be any cutting or overwriting in the Answer.

Use of Unfair Means in Examination will lead to cancellation of candidature.
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Q No Questlons Ans i

; la ' What is the primary purpose of the H'wen l space statlon‘? B
a | é

! A. Military operations

B. Commercial space tourism
C. Scientific research

D. Satellite deployment

39| 3idTieT SO I TelfHe 3899 F1 87

A e
B, anfuifee safar ude
C. AT IFTELTT
'D. muﬁﬁaﬁm

2. Wh1ch sector contributes the most to Indla ] GDP’?
A. Agriculture

B. Mining

C. Industry

D. Services

T e ER] T B o e T e 4 T 82
AL B |
BEFFT
fc i | |

3. Wh]Ch of the followmg places is Tamous tor Ch:kankau wmk a ‘nadltlonal art of A

“embroidery?
A. Lucknow ;
B. Hyderabad ,
C. Jaipur
D. Mysore

ﬁqﬁr@ﬁﬁ@aﬁﬁﬁwﬁm@w%ﬁmm%ﬁmaﬁwmwﬁ :
A, TGS ‘
B. eXER
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14. Whu:h of the followmo quahhcatlons is not essentlal f01 a person to become the Prlme C

Mmtster of India? ;
A. He/she should be an Indian citizen.
B. He/she should be of minimum 25 years of age.

' C. He/she must be a graduate. J‘ 5
? D. He/she must be a member of either house of the Parliament. :

| &mmmwmwm%ﬁmmﬁwmﬁﬁﬁﬁmmmemmmﬁ
I%“? .
| z
| BA.:@WWWW: ’ |
| | B. STHI AT PH G ¥ 25 T £ 1fe |
% | C. S EAE BT A1 f
? LD ﬂwaéﬁmiﬂaqﬁ?raqw sHﬂTFa’Q

i
!
5. Whlch of the followmg is the bl ggest court of appeal in Indla'7 3 C
E
|
|

A. High Courts

B. District Courts
C. Supreme Court
D. Consumer Court 3 l

P o R o e et o s e 2
A, IS T
| B. et e
| C. T e |
D:{mﬂww |

6. z GII‘ Natlonal Palk a Wlldhfe sanctuary estabhshed to protect the A51at1c: L10n is snuated D
| in:
Andhra Pradesh
Assam
Uttar Pradesh
Gujarat

;Wu@am T IS 19 AR, TIPS IR 6T e & fore wifud fear mar & |
| AL ATH TR

'B. Y
EC I VST

Dg

oowp

Page 3 of 13



LT l What is the name of the rover deployed by Chandlayadn 3‘7 B
' Vikram
Pragyan
Sojourner
Spirit

OOW»

| <E-3 BT AT A BT ATH T R
A Tam

'B. WH |
| | C. EFR |
I3 f@ﬁz

| 8. In whlch fort dld PM Mod1 recently unvell the statue of Shlvajl Mahal aﬂ B N
i A. Lohagad Fort
' B. Janjira Fort

C. Rajkot Fort .
D. Daulatabad Fort

=TT B 3 e Hiet 3 for e  FOrash HewrS 1 qfd BT SrraeT o
A, TIETTE febed
B. i febe
; C. TNTpIE febell
i D. Eﬁaﬁm'c:ﬁﬁw

9 Which river is known as the 'Sorrow of B1har due to its hequent ﬂood1ng‘7 LA
Kosi

Ganga
Yamuna
Brahmaputra

o 0w

o ) B ST AT AT &G 3 HROT TR T 9116 e ST &2
A, I
B. T
C. ag
D. STETg

10 Wthh Ind1an actor was conferred the 53rd Dadasaheb Phalke Awa1d in 2023" C

A. Kamal Haasan
B. Mohan Lal ‘
C. Waheeda Rehman .
D. Manorama !

| fob MR AT T 2023 B 539 el ATEs Wi YRR H HATHHA 5T T
| A. P BT
‘ B, HiE W

§C EEEREGIE]

D n’—ﬁw !

| S PR
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| Who is related to the Javelin throw?
A. PV Sindhu
B. Niraj Chopra
C. Sunil Chhetri
D. Rinku Singh
YT Uep T T b €2
A, T fEy
B. A et

C. Grtet el
Dﬁ%ﬁfﬁi

(12

When is the World Aids Day observed?
A. 1 December
B. 31 October
C. 21 March
D. 26 January
| oY U fa e I ST 27
A. 1 TeER
B. 31 3R
C. 219
D. 26 Sl

'3 numbers are in a ratio 11:19:20. If the difference between the largest and smallest
§ number is 45, find the average of the numbers.

|3 HEAY 11:19:20 & 3T § €1 TF% Gl 2t &R T B e b i s 45 8, A
Tt T 3fTEd JATd I
|A. 75

'B.77.25

| C. 8333

| D. 87.50

14

; It the cost price is 25% of selling price. Then what is the profit percent.

!

| I T e TeIsha o T 25% &, Al oI Ifaerd o 29
AL 150%
IB. 200%
[C. 300%
'D. 400%

400%
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16

él?

" .__{_

Aman invests Rs. 8000 at some rate of interest. Being simple interest the money doubles
in 5 years. Raj sees this and invests Rs. 6250 for 3 years at same rate of interest. How |A. Rs.|

To complete a piece of work Samlr takes 6 days and fanvn takes 8 days alone A Rs

respectively. Samir and Tanvir took Rs.2400 to do this work. When Amir joined them, 300

| the work was done in 3 days. What amount was paid to Amir?

ot o o R T ot 6 o i e 1 3§ o A 1 e o
¥ 5 BT BT B T 2400 B AT ST SR ITeb Hrer AMHA T, ot v 3 o & O
€T | TR T feheAT 0Tl BT AT o T

' A. Rs. 300
B. Rs. 400
C. Rs. 800
D. Rs. 500

' much interest does Raj get?

3 ¥ el =T @ W 8000 B3 T T | HIHROT @IS € % PBROT 5 T F GHT QAT
2 ST 2| 7T U T & 3R 3T ST W R 3 T & Y 6250 FUF 9T et el U B

feeT STeT et 82

A. Rs. 3750
B. Rs. 6250
' C.Rs.3125
D. Rs. 4250

4 036 d1v1ded by 0 04 gives :

54.036ﬁo.o4ﬁméﬁmwﬁm%:

AL 1.009
'B.10.09
EC 100.9

| D. None of these
E

3750

100.9

i
i

18

; On an average, it takes 2 wmkers to bulld a wall and 8 wmkers to lay a ce11mg If thme
“are 24 walls in a house and 3 ceilings, what is the amount to be paid to workers? One

laying a ceiling.

1A, T SR S & A 2 weiey AR B fFem % Ay § Hegg @ €1 At et
24 Syt 3R 3 B , dF el Bl Tt T BT AT febam ST =TfRY? Ueb Hof g T <A
oA & T mfafe 1000 B9 3 o fawm & g ufafed 1500 su& &1 T fBar St
!—gl

A 80,000
B, 84,000
€. 90,000
'D. 95.000

B

184,000 |
' worker is paid 1000 rupees per day for building walls and 1500 rupees per day for
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19 The largest 4 digit number exactly divisible by 88 is:

20 i The cube root of .000343 is:

i

| 88 T quia: oo qedl 91 4 siebry T FI © 22
| A. 9944

gB. 9768

' C. 9988

D. 8888

|
{

.000343 BT T &
AL 0.7
| B. 0.07
| C.0.007

' D. None of these
|

2]

!

22 i A maximum of how many pieces of 14.8 ¢cm can be cut from a 784.4 cm long rod?

; The ratio of speeds of p: q : ris 8 : 7 : 6. Find the ratio of their time taken.
' p:q 1 eI BT ST 8:7:6 €1 I W BT SUT FTT hfary|

iA 21:24:28
|B.28:24:21
1C.12:14:18
'D.18:14:12

784.4 FHI vl B U 14.8 THT I Aferbay S 22 B o1 Tehdl 22
| A. 59

| B. 51

.53
D. 57

A. 21|
24 :28 |

1C.53 |

[\
(]

Two squares have sides of length 64 and 96 respectively. Find the greatest length of wire
that can measure both of them exactly.

<1 ST T STl T IaITS BHYT: 64 3TR 96 &1 IR &1 Tl 92) &aTe ST BifoTg 5t SHT Bl
S1eh | HIT | |

AL 32

'B. 16

' C.24

D. 8

24

2.3
| D. 321

' IT x+y=21 and xy=110, find the value of x2+y2.

TS x+y=21 3R xy=110, AT x2+y2 T TH FATd BT
A 221
B. 241
L 30

|
{
E
|
|
E
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26

f

S (S

Look at this series: 21,9, 21, 11, 21, 13, 21, ... What number should come next?
T AT B @1 21,9, 21, 11,21, 13, 21, .. T o1& B T HEAT 7T =1ew?

Al4
‘B.15
21
D. 23

I
|

| Find the missing number :- 7, 26, 63, 124,215, 342, (....)

@q;{wmaﬁ 7,26, 63, 124,215,342, (....)
| A. 481

fB.15

| B.511

B. 511

C. 391

'D. 421 »

27 Identify the option that completes the pattern in the Figure X.
39 fieped @1 vEaTT St o X H ted &1 o ST Bl
1B
(X) (1 (2) 3) 4)

Al
'B.2
| C..8

D.4

PSS Y SPIAU. | E PSS
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(28 Read each dehmtlon and aIl fmn cholces car efully, and ﬁnd the answer tha’[ proudes the B

| best example of the given definition:-

E
i
E E
i the best example of Establishing a Power of Attorney?

A Louise is selling her house and she hires a lawyer to review the contract.

% B Simone's mother can no longer get to the bank to cash her checks and make deposits, i

so she has taken legal steps to enable Simone to do these things for her.

' | C. Jack's father is elderly and Jack thinks he is no longer able to make decisions for |

himself.

| D. At her daughter's urging, Mrs.Lenox opens up a retirement account with the local | ?

E bank.

| 3T ITEIOT V2 LT 8-

,1' ;WTEET'HER?[ BT ISTET 2?2

I 3 [T 3 P17 BT H HeTH T % fAT BT sem Ia7T £

| C. 51 & TOrT gt & iR Siep 1 o & 96 e o7 o1 feve ot o  wam AE 2
;D aqﬁaaésm"gtn %ﬂﬂﬁmw%ﬁw@aﬁaﬁm@aﬁé

|
|
|
L
7 I T
i
E

Establishing a Power of Attorney occurs when a legal document is created | %
 that gives one individual the authority to act for another. Which situation below i 1s

wmmﬁzﬁwwaﬁ%mwmﬁmﬁﬂwm%ﬁ@wﬁa, |
3aﬁ§aﬁaﬁmmaﬂ#aﬂaﬁwém%r e & 1 B R arer siw i |

| .A T ST S S Y6 & SR 9E STgar OB HHTel i % T U aebiet o e et B
; | B. T 1 AT sia 3o e A 3 ST 9 3 TG dop A o7 wept, SHierT I A

E
i

3
E
|

R S N D A A A e A

29 f \”hl\,h ot the given Optmn will replace the question mark ?
- E E
5%@Wﬁwﬁr@raﬁ?mﬁmwﬁg(?)é€wmam? |
P iy A ?
| ¢ Y ’
| &/ \'\ 4 -/ N g 5/ k g
AN 7N v \*
4 N ,f--/ 5 ;*/ \
§ 4 & 5 ,’
| A. 25
|B.37 f
; ' C. 41
| |D. 47 | |
| |
C.14

130 | Find the odd one out :- 3, 5, 11, 14, 17, 21
|

g@ﬁﬁﬁwmmzﬁﬁn 3. 5,11, 14, 17. 21
|A.21
|B. 17
(C.14
'D. 3
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Pomtmg, to a bov in the photograph Reena sald 'IIe is the only son of the oniv ch1 d of B

| E—

e HE AIURT 12 ST IE B 21 S woret 10 fie o, He B g HH el gl €

(AL 145°
' B. 150°
| % 158°
'D. 160°

e e e

|31
| ' my grandfather." How Reena is related to that boy? | Sister
A. Mother
B. Sister
C. Aunt
D. Cannot be determined
EPT T T e I ST SIRT B EC TAT 3 el "8 W 12T BT ghaATal S Bl gl il
Jer )" T 3T w2 T Tob e Heiferd 22
A.HT
| B. seT
C. 9=l
| D. Ferffeet T femar ST Fepat
= E , S < S
‘ 32 ‘ If in a code language COULD is written as BNTKC and MARGIN is written as C :
| LZQFHM, how will MOULDING be written in that code? LNTK
CHMF |
afx femelt 2 TS # COULD &I BNTKC Tl ST 8 3R MARGIN @1 LZQFHM ﬁ%@T
Gﬂ?ﬂ% a1 38 e § MOULDING T <68 fer@n smgm? _
' A. CHMFINTK
| B. LNKTCHMF
' C. LNTKCHMF
' D. NITKHCMF |
33 Arrange the words given below ina meamngful sequence. e
T fow M vreet Bl Hrefes A H A fEd |
| 1. Wall 2. Clay 3. House 4. Room 5. Bricks
A.5,2.1.4,3
| 'B.2,5,4,1,3
C.2,5,1,4,3
B, 1 2. 3,45
|
34 | A clock is started at noon. By 10 minutes past 5 the h0u1 hand has tur ned th1 ouOh C
_ | 1552
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35

F111 the blank in the end ofthe series.

; %@wﬁﬁaﬁﬁﬁaﬂwﬁﬁl
|JAK.KBL,LCM, MDN,
| A. OEP

'B.NEO

| C. MEN

' D. PFQ

| the other candidate got, was:

| A. 2700
' B. 2900
| C. 3000
| D. 3100

In an electton between two cand1dates one g,ot 55% of the total valid votes, 20% of the i
' votes were invalid. If the total number of votes was 7500, the number of valid votes that ; 2700

21 IR 6 &9 U T |, Ueh IFIZAR Bl Ped a4 el § & 55% A e, 20%14331?&1
¢\ T el Well bl AT 7500 off, AT ST IFIGAR T Hed S Wt bl G o ofio

|
i

|
|
|
|

‘What will be the output of the followmg Python program°

| A fCTRET ATerer YT <1 Sfraqe T §imr?
z set('abc')

| z.add('san")

z.update(set(['p’, 'q']D)

a) {-a ‘‘‘‘‘ p q , \ ',‘j Cnﬁ}
Eb) { abc p q ‘san’}

Le){'a’, ‘b """ "q’, ‘san’}

d) {*a’, b’ "¢, [p 'q’] "sanj

38

What will be the output of the followmg Python code°

FFefafEd g g & sT1eee w®
>>>list] = [1, 3]

>>>ist2 = listl

>>>1ist1[0] = 4

>>>print(list2)

B W N e

la) [1.4]

b) [1,3,4]
1¢) [4,3]
d)[L.3]

®!
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139

40

i(sz)mﬁmwwaﬁtrﬁaﬁﬁ@

la)28
'b) 83
¢) 80
482

‘Convert (52)16 into its decimal equivalent.

[ Expless the ASCH equwalent of the 31gned bmaly numbel (001 1 0010)2.

-maﬁﬁa@?ﬁm(oouoom)zamscnm@maﬁmﬂzﬁh

'a) 2
b1
o)A
),

,E e et

5 Causing the CPU to step through a series 01L micro operations is called

fcmﬁq&mrﬁamﬁa?r@ﬁ%iam B oA o Ty Ui e Bl

i a) Execution

| b) Runtime

' ¢) Sequencing
d) Pxpelmmg

42

E
£
&
s

What is correct instruction if you want the contml to go to 1he locatlon 2000h9 C

Uf%aﬂqﬁasrmaﬁ 2000h T T & AT ATEd & df Fe1 e T 22

' a) MOV 2000h
b) MOV A, 2000h

"¢) IMP 2000h

d) RET 2000h

43

44

(D) plan

' (A) confluence
; (B) hiatus

' (C) panacea
(D) debacle

“parvenu”

| (A) wallflower
(B) highway
| (C) melody

Her art mstallatlon was a
sculpture, sound, and video.

of various mediums, seamlessly blending A

Which of these words is most nea11 the opposne/antonvm of the word prov1ded‘7 A

S & AT VTee T TG 9TeE T Terd aAfue ot/ faree 7
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| 45

|46

| (D) submissive

(D) stealthy

Which of these words is most nearly the opposite/antonym of the word provided?

Eﬁﬁﬁaﬁ?mmﬁvwmwwmﬁqﬁwﬁﬁmﬁ

| “truculent”
| (A) faltering |
| (B) gentle

| (C) facile

' Which of these words is closest in meaning/synonym to the word provided?

ST § I 9T 912 37el/gafar o1 8 & fow Mo vreg & o) fse 29

| “stentorian”

(A) violent
(B) misbegotten
(C) loud

the word provided?

Which of these words is closest in meaning/synonym to

o T vt B gl A Ry T e S ) e 2
| “propinquity”

(A) habit

| (B) nearness
| (C) capacity
(D) tendency

49

' To accept the gauntlet means:
§ (A) To accept defeat

| (B) To be able to grasp the hidden meaning
| (C) To accept challenge

} (D) To accept what is written in fate

' More children growing up in a world so increasingly diverse that stock racial identities

no longer

(A) call off

(B) hold up

| (C) leave out
(D) blow up

Ihe marathon runner's stamina and endurance were truly as she completed
the race despite the adverse weather conditions and challenging terrain.

(A) prodigious

(B) ephemeral

1 (C) inconsequential

(D) rudimentary
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